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Topic:- General Knowledge

1) In which year was the Iqgbal Award established in Madhya Pradesh?
T UeR ¥ {5 9 ¥ sopara REp R wITUd g3 UT?

1. 1986-87

2.1992-93

3.1984-85

4.1980-81

Correct Answer :-
« 1986-87

2) In which year was the Panna National Park declared a Tiger-Reserve?
AT P I Bi forw 9 A e Rerd aifdya fosam ur?

1. 1996

2.1994

3.1993

4. 1995

Correct Answer :-

« 1994

3) In which year did the Flag Satyagraha of Jabalpur occur?
SIdeYR T wmmaﬁﬁgm Yr?
1.1923



2.1925
3.1926
4,1924

Correct Answer :-

« 1923

4) With which of the following sport is Varsha Varman associated?

Frafafaa & 3 fow @a A auf s g1 5 32
1. Javelin throw/ﬁ-ﬂFﬂW

2. Wrestling/$dl

3. Shooting/ﬁmﬁiﬂﬁﬁ

4. Swimming/ﬁ?‘lﬁ

Correct Answer :-

. Shooting/ﬁmﬁa'lﬁﬁ

5) Who is the architect of the Bharat Bhawan building?
YRd a9 & IRgPR DI 82

1. Charles Correa/ﬂ]ﬁ‘faﬁﬁm

2. Horace Jones/gRY &Y

3. Claude Batley/a?ﬂBTs’aE?r

4. Maxwell Fry/fIERZIaT’I15|°_|'5ec

Correct Answer :-

e Charles Correa/ﬂ]ﬁ‘faﬁﬁm

6) Which of the following tourist places is/are situated in Indore?

fafafaa # 9 19- a1 wdea WA SR A T 82
1. None of these/gﬂﬁ@[aﬂé:@’f
2. Chhatri Bagh/&dxl a1

3. Devtal/ddard
4. Both of these/ﬁfﬁ:ﬁ

Correct Answer :-



e Chhatri Bagh/@ﬂilaﬁr

7) Where is the Kaliadeh Palace situated?
PIfeqe Hed $ei RUd 82

1. Dhar/4R

2. Panchmarhi/tlil'ﬁl‘qﬁ

3. Bhopal/‘l-ﬁtﬂﬁ

4. Ujjain/3w

Correct Answer :-

. Ujjain/I=H

8) Which flora is the Bori Wildlife Sanctuary rich in?
TR qASla SARUY | SI- AT qA¥ T UTIT STl 82

1. None of these/S7H I HIS o

2. Rhododendron/ﬂ@@s?

3. Cactus/RTdH!

4. Bamboo/di9

Correct Answer :-
« Bamboo/dig

9) When was Anil Kakodkar awarded the Padma Vibhushan Award?
A FTHISHR B U YT RIBR & Ha g1 fovar mar ur?

1. 2010

2.2007

3.2008

4. 2009

Correct Answer :-

« 2009

10) Ramesh Chandra Lahoti was the Chief Justice of India.

I O AR URA & @ AT A1



1. 33rd/33d
2. 35th/35d
3.32nd/324d

4. 34th/344d

Correct Answer :-

. 35th/35d

11) Bollywood playback singer Mamta Sharma was born in:

qiciigs @t urs MRt THar 4t &1 5 Bl g ur?

1. Jabalpur/SIdeigR
2. Indore/3GR

3. Bhopal/‘l-ﬁtﬂﬁ

4. Gwalior/IferR

Correct Answer :-

. Gwalior/‘aﬂ%ltl?

12) The Narwar Fort is situated over the:
RaR faa A fR@ gl

1. Vindhya Range/ﬁ?ﬂqﬁfﬁaﬂﬁ

2. None of these/STH I s gl

3. Aravalli Range/mﬁqﬁﬁ guft

4. Satpura Range/SaqRT udd guft

Correct Answer :-

« Vindhya Range/fd&q gdd guft

13) The maximum number of districts are in the division of:
P8 TURT H fftrman de & ford 872

1. Narmadapuram/:lﬁaw

2. Indore/3ER

3. Gwalior/TaTeraR

4, Sagar/dR



Correct Answer :-

. Indore/gaT

14) To which side of the Narmada river is the Satpura Tiger Reserve located?
Tier 71 & P 3R TaysT ergR Rod fRa @2

1. North/3™R

2. West/uigm

3. East/g\ac

4. South/Gfarom

Correct Answer :-

. South/iff\&fUT

15) Mandu’s Jahaz Mahal is a fine example of architecture.
WgPISEEIAEA_____ dRqehell B U 35T ITex0 |

1. Persian/ BRE!

2. Afghan/

3. Mughal/ J1Td

4. Dravidian/ &fdg
Correct Answer :-

« Afghan/ 3

16) The Pench Tiger Reserve is situated in the districts of-
U 919 SRy f forel & fRua 82

1. Hoshangabad and Betul/gIRITIETG GﬁTa?K'I

2. Betul and Chhindwara/a?lji 3R fearer

3. Seoni and Chhindwara/f&at G?IT%EEHET

4. Seoni and Mandla/Rat 3R HeaT

Correct Answer :-

. Seoni and Chhindwara/Riat 3iR fesearst

17) C. K. Nayudu was the captain of the Indian Cricket Team in test matches.



H.¥. Trog e AT A uRd PP Hu P FH A
1. First/ugal

2. Second/w

3. Third/dRR

4. Fourth/a1d

Correct Answer :-

« First/dgd

18) How many Jyotirlinga/s is/are situated in Madhya Pradesh?
Ay § foha saifafed g2

1.4

2.2

3.3

4.1

Correct Answer :-

.« 2

19) The image of goddess from Bhojshala temple of Dhar is now displayed in a
museum at

YR &» WMo dfR PN S sfa e & v Jugay A ueRid #1718 21
1. London/<f&d

2. New York/qq%

3. Berlin/aﬁﬁ

4. Manchester/#TaReR

Correct Answer :-

« London/dicd

20) Which historical book says that 'a small river, Betwa, was at a distance of about 3
kurohs (6 miles) for Chanderi'?

o tfoeTie qras o o1 mar 8 i <98 & @y 3 331 (6 Hie) # g R U B ],
aqar &2

1. Akbarnama/3{®»eRATHI



2. Humayun-nama/gHrg-ATHT
3. Muntakhab-ul-Tawarikh/g~<@d-3d-qaR G

4. Baburnama/dIdRATHI

Correct Answer :-
« Baburnama/dIdRATHI

21) At the time of re-organisation of Madhya Pradesh in 1956 how many major
irrigation schemes were there in the state?

1956 ¥ G U & YH: WIS & GHT IS4 | fha-l gt Riars e A2
1.4
2.2
3.3

4.1

Correct Answer :-

e 3

22) The Omkareshwar Project is situated:
NHPRYR TGS Hel UG 82

1. 40 km downstream of the Indira Sagar Project / a1 IR RS & 40 ﬁﬂf[&lﬂm
T

2. 40 km upstream of the Indira Sagar Project/3fcxT TR GRASHI & 40 fhd! 4R1-UfdHd
p

3. 80 km downstream of the Indira Sagar Project/ SfoRT IR AT & 80 %Iﬁw
T

4. 80 km upstream of the Indira Sagar Project/ $fax1 ¥R URAIeHT & 80 fobdl 4RT-ufdda
o

Correct Answer :-

« 40 km downstream of the Indira Sagar Project / $faR1 IR GRASH & 40 foddft 3ryrarg
T

23) In which year was the Narmada Hydroelectric Development Corporation
Ltd. set up?

THer eEg I Saauiic HIRUNTM faftee $i feg af & wifia far war ur?

1. 2002



2.2001
3.2004
4. 2000

Correct Answer :-

« 2000

24) Which of the following is a tributary of the Chambal River?
Frufafeaa o 9 o19- @ d9a 18 31 Ul 82

1. None of these/ 378 4 ®ig

2. Parbati/URe!

3. Shakkar/R[adhR

4. Tawa/ddl

Correct Answer :-

« Parbati/qRed!

25) The Mandla Fossil National Park is situated in between the:
Hea SftareH gt Sa few & fa A fRa g2

1. Kanha and Panna National Park/&Tgl WWH@HW

2. Pench and Bandhavgarh National Park/Ud SﬁTEITmU@HQﬁ
3. Pench and Panna National Park/Ud @?WT@U?@W

4. Bandhavgarh and Kanha National Park/SIHdig GﬁTom-slT@HdaH

Correct Answer :-

« Bandhavgarh and Kanha National Park/aTmaﬁTomfslﬂ@HdaH

Topic:- General Hindi

1) AT T HETaR BT ATIA E :
1. ORI HRAT

2. W IR T A=A &l

3. Bl HRAH

4. TIDH AT B URITA DHRAT



Correct Answer :-

« TR AT

2) it fawg &Y iy =0 & S+ arer ST g
1. dd3d

2. JHY

3. faivy

4. 763

Correct Answer :-

3) “Srerer & gATgaT & fog wel faweu 3 :
1. 3o Gt

2. AgHT

3. P Hd

4.9

Correct Answer :-

. Jaad g4t

3. 3d
4. URY

Correct Answer :-

5) qrer f3paT A 9911 aTelt HIadra® Ay @ ;
1. GISHI



3. QIS-HIT
IR IS

Correct Answer :-

6) Rergafe T w1 AR 2 -
1. O + srgAfd
2. U + srgmfa
3. {07 + ergHfa
4. O + srgafa

Correct Answer :-

. fUq + srafa

Correct Answer :-

. Jad g4t

8) ‘§gTd’ Xeq ICIEIVT 8 :
1. GG AP 31 BI

2. YIqdTIeh 3T b1
3. GoIdTES T &1
PRSI REIECRSEIED
Correct Answer :-

« HIIdIPH I BT

9) AR g BT AL AT 2 :



1. RIRal
ACI ]
3. fafy
4. qTufY

Correct Answer :-

Correct Answer :-

. TUT TR Y

11) ‘PG & IaY W T PUT R :

1. IDIfRT b Ul TS TeT AT B! Blell o

2. Aepifad forft o ®M WR yraferd 81 o arell By 8|
3. e ifad AT gt & |

4, Apifad B 3537 3R a8 gran g

Correct Answer :-

. Aifa TRt g B

12) g’ qUf HTIIHARVI VIR :
1. 7ef

2. TG

3.$3

4. %3 IR A

Correct Answer :-

. ©F



13) ‘g’ T UGIgdTHl g T8l & :
1. fag
2. 9

3. faufa
4. qufy

Correct Answer :-

14) G HT FAudard® eg TR :
1. ey

2. qfed

3. e

4. %G

Correct Answer :-

15) YD BT TAFTIP Tt @ -
1. TR

2. §¥R

3. I g

4. Y

Correct Answer :-

. 3ad gt

16) MYAH FAF FAE :
1. T

2. WITATR- QI ‘R’

3. YMG
4.¢d



Correct Answer :-

o STANMGI Rdlh’

18) faferfad A agae< U< 81 &
1. TEoH
2. 91

3. TIf%ar
4. 0D

Correct Answer :-

19) frgferf@a d s ar @

1. T 7T &1 NI SR @15

2. 3D U HefT | g=gare |

3. BARY QYA ST &1 fadTe g S 3@ 5 |
4. AR & ATCH| BT Y=Y g1 AT

Correct Answer :-

. THR QUG H-a7 6T fId18 T ST 2|
20) Fafafa i s aa g :

1. TR g Uy g@d 3|

2. ﬁﬁwa&f db 3! Ucltet 1|




3. 98l HRI-WRBH HIg oA T &t |
4. b g [ 3 W = 61 g IR 18 faam

Correct Answer :-

. T TP IY AP SD! Uit & |

21) fFafafaa o @ $i9-91 3o W8 2
1. {for

2. Bl

3.U8

4. Tt

Correct Answer :-

22) frafafad & @ $i9-91 3 yfedT =81 8
1.
2. 319
3. AgHT
4. g1

Correct Answer :-

23) Fafafea | fFd v & wfa T8 g -
1. Jeiary
2. BT
3. fammufa

4, agﬂaaﬂ

Correct Answer :-

24) TAN P D A RZ IR B :



1. S{HTYT
2. i

3. PRI
4. GHIAYdD

Correct Answer :-

25) ga-t @t =¥ A Y& IS B
1. 98

2. Ufdl

3. DR

4. Y

Correct Answer :-

Topic:- General Maths

1) 3

In what time the simple interest on a sum of money be S of the principal with rate of interest

125% per annum?

3
fra T § el qEes ST WTURU TS 12.5% a1 1o 35 3% § Gere o7 8 71 81 e

1. 9 years/9 GL
2. 3 years/3 ay
3.6 years/6 d¥

4.5 years/ 5 G

Correct Answer :-

« 3years/3d¥

2) Which of the following is the greatest fraction?

fAddvsa s i e @A E?



L] s
e -

[FVR

WO a

4. 12

Correct Answer :-

3) 24 men can complete a piece of work in 15 days. In how many days will
18 men complete that work?

24 T3Y TP HTH B 15 &A1 o [T H2 GFd &1 59 HTH Y 18 T fha- fe=1 d R
1. 16 days/16 a7
2. 25 days/25 fad
3. 20 days/20 fad

4.22 days/22 faa

Correct Answer :-
« 20 days/20 f&q

4) The cost price of an article is ¥420 and it is sold at a profit of 5 %, how
much would be its selling price?

TS a1 99 Y 3420 8 AUTIA 5 % & ATY U 991 4TI SHST fIehd gea 1 gRI?
1. %430
2. 3450
3. 3437

4.3441

Correct Answer :-

. 3441



5) 20% of the total cost of a plot of area 395 sq. ft. is ¥78,210. What is the
rate per sq. ft. of the plot?

395 T Wi &APA F TH YTS & Yo HT 20%, 78,210 8| YES &1 ufd ol Wie g
22

1.3990
2.3%1,000
3.3999

4.%1,020

Correct Answer :-

« 3990

6) The average of 38, 50, 49, 54, 72, 87,y and 74 is 61. The value of y is:
38, 50, 49, 54, 72, 87, y 3R 74 &1 3d 61 1 y T W Ta13i1|

1. 58

2.64

3.60

4. 62

Correct Answer :-

7) DIRECTIONS: What will come in place of the question mark (?) in the
following question?

fAdar: Fufafad uy A usgars e (2) & R R F1 3me?
V3721 ++/2704 7= 82
1. 53

2. None of these/i’qﬁ@aﬁ%:@'
3. 68

4. 24

Correct Answer :-

« None of these/s_rlﬁ‘vlfﬁ'sc:@'



DIRECTIONS: What should come in place of the question mark (?) in the
following humber series?

e Prafafad uy & yyaras R (?) & R R 41 31 91fee?
1,?,27, 64, 125

1.8

2.4

3.6

4.9

Correct Answer :-

- 8

9) Divide Rs.7,500 among A, B and C such that A's share to B's share is in ratioof 5: 2
respectively and B's share to C's share is in the ratio of 7 : 13 respectively. How much will B
receive?

¥.7500 B A, B 3R C T 59 avg fautiora &< {5 A ik B &1 e wa=n: 5:2 F rquia d g
YT B 3R C &1 RTAT HHRT: 7 : 13 & AJud A 81| B ! foba=1 . wTed gam?

1. % 7,000
2.% 2,600
3.% 1,400

4.3 3,500

Correct Answer :-

10) The length of the longest rod that can be placed in a room of dimensions 20 m x 20 m x 10
m is:

m?wa&ﬁaﬁmﬁ,ﬁﬁzoﬁax 20 HieT x 10 HieT & ATYTH & FHY | @1 o1
Dl g

1. 25 metre/25 HieX
2. 40 metre/40 Hiex
3. 35 metre/35 Hiex

4. 30 metre/30 Hiex

Correct Answer :-

e« 30 metre/30 Hiex



Topic:- General Computer

1) Tell shortcut to bring paragraphs to the center:
WITE $ Hex d a1 & R IdHe Tae:

1.Ctrl + L

2.Ctrl + C

3.Ctrl + E

4, Ctrl + ]

Correct Answer :-

o Ctrl+ E

2) What is full form of USB?

USB T XTI F71 82

1. Universal Serial Bus/ qﬁéﬁa%ﬂﬁww
2. Universal Smart Bus/ gﬁaﬁﬁ@ﬂé ER}

3. Unicoded Smart Bus/ gH®Ies HIC a4
4. Unicoded Serial Bus/ W@EWW

Correct Answer :-

« Universal Serial Bus/ gdud dIRad a9

3) An excel workbook is a collection of:

TR ahgd_ PIEIE 8!

1. Charts/ d1c

2. Work sheets/ ae gfic

3. Web pages/a'dt[@f

4. Both Work sheets and charts/ aiHi g 2ffe 3R ady

Correct Answer :-

. Both Work sheets and charts/ @i g 2fie 3R A<y

4) Paging is related to the concept of:

ST @t sy fFad Heftd 82



1. Virtual memory/ aﬁmﬁnﬁ

2. Memory allocation/ AARY TAIHTH

3. Deadlock prevention/ 33did AT

4. Memory-management scheme/ AR-AoHe ugfa

Correct Answer :-

« Memory-management scheme/ AUR-AoHe ugfa

5) Which of the following IP addresses doesn’t change every day?
o @ P9 engit T3 W A 81 9ged 87

1. None of these/%“*lﬁ I ﬁ's‘: -Teﬁ

2. Static IP address/ %few st ugw

3. Dynamic IP address/ SIS 38U UgH

4. URL/ g3IRUT

Correct Answer :-

. Static IP address/ ®fe® st Tgq

6) Which of the following represents the interval between the time of submission and
completion of the job?

frafeafea & @ 9 91 a1 IRgd F31 3R e & S 3 siavrar &1 ufaffia sar @2
1. Throughput time / Hrdedr I

2. Turnaround time/Uﬁiﬂ‘cﬁW

3. Waiting time/ Tailefl g

4. Response time/ &WW

Correct Answer :-

« Turnaround time/ Ufddd- I9g

7) Which of the following View doesn't show the background color of a document?

g o @ o9 91 o gwarad & qd fifd®T &1 3 8 e 82
1. Print Preview/ flic tieg
2. Web Layout View/ 9§ T33¢

3. Print Layout View/ fiic dsm@ec &,



4. Reading View/ f&§1g

Correct Answer :-

« Print Preview/ flic tteg

8) Which of the following is a command based operating system?
7 & 3 oi=-a1 wais sutia sifwfeT Rea 82

1. MS-DOS/ THTH-SIH

2. Windows-XP/ ﬁ?ﬁﬁ‘?ﬂlﬂ

3. Windows 98/ fd€ist 98

4. Windows 95 / fdeiot 95

Correct Answer :-

« MS-DOS/ THUI-19

9) Which of the following is an example of hon-numeric data?
0 % & 19 W R B H! FT TH ISTER 72

1. Social Security number/ STHTISTh & HEAT

2. Address/ Udl

3. Examination Marks/ TI&1 & 3%

4. All of the above/ SWRIad I

Correct Answer :-

o Address/ Udl

10) Which of the following is the broadband transmission medium?
Frafafaa & 3 o9 a1 sfsds ciafime araw 82

1. Co-axial cable/ 1&g bad

2. Satellite communication/ U8 IR

3. Optical fiber Cable/ 3PHd BIEIR Had

4. All of the above/ SURTad HHt

Correct Answer :-

« All of the above/ IWRiad g+t



11) Which of the following is an internetwork?
fFafafea # 4 o1 w1 @ Secad o2

1. MAN/ 89

2. WAN/ a4

3. LAN/ o

4. All of the above/ STRIad Ft

Correct Answer :-

« All of the above/ SWRIad g+t

12) Which of the following is NOT an element of database?
frafafeaa & & 19 91 Sered &1 3/aua -8 82

1. User data/ sk SIcT

2. Reports/ﬁ‘liﬁ'cC

3. Metadata/ HeTSIel

4, Schema/Fﬁﬂ

Correct Answer :-

« Reports/ Rard

13) Which of the following is not a translator of a programming language?

frafef@a & @ S- a1 Ui Y &1 Srgare® T8 82
1. Assembler/ 3RITETR
2. Compiler/ ™SR

3. Interpreter/ $e30eR
4. Loader/ @8R

Correct Answer :-

« Loader/ IR

14) Which of the following is used to retrieve some data from a data base table?

g & A 19 91 ST 37 TIfrDT A $B ST UTtd 1 & fore IuaT fpar wivar 82
1. Record/ R&1s
2. Tag/?ﬂ



3. Query/ﬁ
4. Field/ IS

Correct Answer :-

« Query/ &3

15) Which of the following is not a function of e-commerce?
Frafafea & @ o19-a1 §-5iad o1 yoR 78 82

1. Virtual Marketing/ SMYR TR

2. Advertising/ fasTa=

3. Marketing / UR

4. Warehousing/ HUSRUI

Correct Answer :-
« Warehousing/ HUSRU[

16) Which key is used to go to the beginning of a document at a time?
T 3T P [T 1 & ¢ 5T Foit &1 Iuaiw favar wrar 32

1. F5/T®%5

2. Home/ 81

3. Page up/ U 30

4. F4 /U4
Correct Answer :-

. Home/@'ﬁr

17) Pick the odd man out:
fawq o1 997 B-

1. .org

2..com

3. .nic.in

4. .mil

Correct Answer :-

e .Nic.in



18) Operating system errors may cause:

ST Rew § Ffe & SR 71 8 ghar 82

1. Illegal access to the system/ en d sﬁsmg'%r
2. System instability/ RieH ifRRdT

3. System crash/ RieH TR§

4. All of the above/ IWRIad g+t

Correct Answer :-

« All of the above/ IWRiad g+t

19) Special effects used to display slides in a presentation are called:

Y& § WIS e Ui B & g o T W Shacy S 1 Hg1 oI1dl 82
1. Transitions/@T@l‘\fF\Er

2. Annotations/ 3T

3. Animations/ THHEH

4. Patterns/ T

Correct Answer :-

« Transitions/ iR

20) Inserting text from the clipboard or copy buffer is referred to as

fuas TN arr AeRe S F fore . Fwud gefla fFarsmar gl
1. Select/ ¥dac

2. Paste/ﬁ?

3. Copy/ it

4, Cut/ &c

Correct Answer :-

« Paste/ U

21) In Ms Office 2007, Clipboard option is present under menu:

THTY 3T 2007 ¥, fFaueis fdwe B & dgd SufAIA 2
1. Mailings/ Afei|g



2. Home/E;TH

3. Insert/sTﬂ'c‘;
4. References/ R

Correct Answer :-

. Home/Eﬁ'ﬂ

22) The program/language used to create web pages in 3D view is:
DIH-8 URITH/AES & §RT3D § 99 9 591 9ad 82

1. FORTRAN/ BIRSH

2. VRML/ d13RTHTA

3. HTML/ TadiuAud

4. SGML/ THSTHT

Correct Answer :-

« VRML/ dI3RuATdA

23) The default Print mode for MS Office is:
THTH St H fEwiee file dis @ 3?

1. Portrait/tI}I%:'cr

2. Web Layout/ a9 W3{I3¢

3. Full screen/E}p—cTE'ﬂ:T

4. Landscape/a?,@o—q

Correct Answer :-

« Portrait/ tﬁ%:'c'

24) The file system typically used by Windows 95 is

TR WR fJSIe 95 gRISTUNT Pl T ATl wrsa ey @
1. FAT 16/ ThUd 16
2. NTFS/ TAcIUmTd
3. FAT 32/ UHUCT 32
4. LMFS/ TAUHUGTH

Correct Answer :-



« FAT 32/ THUS 32

25) The first page of the website is called
d9913C & Ugd U DI PEd T

1. Browser page/EﬂBTrRa\_xr

2. Web Page/a'dfl\_rr

3. Home page/ B9 U

4. All of the above/ IuRTad ¥t

Correct Answer :-

« Home page/ HEE

26) The number system with based 12 is called:

9 12 WR MR ST YUITel! &1 &R gl SIIdT g:
1. Hexa Decimal /%W?R:ﬁﬂﬁ
2. Decimal/@?ﬂﬂﬁ

3. Octal/ 3iged
4. Duo Decimal/ g3l sdiHa

Correct Answer :-

« Duo Decimal/ g3l siHa

27) The ruler in MS-Word helps to:
THUH- 98 H§ ¥R $THGG Hdl 82

1. Set indents/ ARTHA ®I B HA A

2. Change the page margin/ g8 {1 9ga- &

3. Set tabs/ difeldT &1 3lh B |

4. All the above/ IWRIGd g+

Correct Answer :-

« All the above/ IWRIgd g+

28) To execute a stored program it must brought from to

% qd Jfd T &t fHerfed @ & g | o T oI ghar 2|




1. Secondary memory, main memory/@%ﬁﬁﬁ,ﬁ@ﬁﬁlﬂ
2. Memory, compiler/ ﬂnﬁ,mw

3. Memory, CPU/ ﬁﬁﬂ,?ﬂtﬂq

4. Key board, memory/ Pl- Eﬁ?f,ﬁﬁ

Correct Answer :-

« Memory, CPU/ BT, ST g

29) To access the system’s RAM, the CPU uses:

Rieew & 30 &1 IuahT H31 & fore 3t & g #14- I J1eq &1 Iuah Har3?
1. Expansion bus/ TRUTH §9

2. Control bus/ EW'@FIW

3. System bus/ Req &9

4. Address bus/ Tgd &

Correct Answer :-

« Address bus/ U9 &

30) DDR stands for:
SR 1 yul T U R 82

1. Data DRAM Rate/ STeT 31 W I
2. Double Data Rate/ €8d ST e
3. Double Data RAM/ S&d STeTXH

4. Double DRAM/ Sad €I H

Correct Answer :-

« Double Data Rate/ S SICIC

31) Microsoft office is
TSN Afpd g1

1. An application suite/ E@Wﬂﬁ%‘c’
2. A Browser/ §I3%RR

3. An Antivirus/ QE%THW

4. An operating system/ SR Rew



Correct Answer :-

. An application suite/ TwiHY g3

32) topology uses one common cable known as backbone to connect all
devices in the network in linear shape:

JIYIATS TP I Sad HT IYUNT BT ¢ | St Aead § I Iuson &) sigq &
e e H el & Tu A Hrd FRAT B

1. Star/ &R
2. Bus/ 99

3. Mesh/fIQT
4, Ring/ﬁjT

Correct Answer :-

33) allows customers to conduct financial transactions on a secure website
operated by their retail:

UTED| P YT gRT HATId Teh YR dadrse W Ay a-ed H31 ot 3rgufa a1 8:
1. Online banking/ 3iTarg sfdT
2. Internet banking/ e3¢ sfd

3. All of the above/ IWRIad & T PIs gl

4. E-banking/ 3-sfdT

Correct Answer :-

« All of the above/mﬁ@raﬁﬁﬂﬁ

34) is the total time taken by the computer to process a data request from
the processor and then retrieve the required data from a storage device:

eI gRTNEIR A Sl oY @1 itk & fore forar war oo o 8 sk v uep
TR f$arsd ¥ Saxyg® Sel Y=: Ui Fear gl

1. Disk Access time/ %WQH@HW
2. Access time/QTR?mW
3. Latency time/ dicdl ¥Hg

4. Seek Time/ H® IHY

Correct Answer :-



« Disk Access time/ f&%p Tl I7g

35) VLSI and microprocessors came into existence in the generation of
computers.

PR & it A Fruamgans ik urgH! MR i | smaT|
1. 4th/ =Y

2. 2"/ gt
3. 37/ ™t

4, 15t / ygal
Correct Answer :-

. 4th/ =nf

36) Virtual memory allocates the secondary memory as a supplement/substitute for:
e AARY Frafafed # feae! o 7/ fdec & w0 Gds AuR ¥ srdfed srars?
1. ROM/ ¥

2. RAM/XH

3. EPROM/ SUMH

4. EEPROM/ 34

Correct Answer :-

« RAM/H

37) CUI stands for:
Hrgans &1 quf wu s 82

1. Character User Interface/ ®dcR goR $cXthd

2. Control User Interface/ $UCId goRk Sy

3. Command User Interface/ $HIS goR §cthd

4. Command User Interaction/ IS goR SCa=M

Correct Answer :-

« Character User Interface/ ®vae ok §eY

38) DSL (Digital Subscriber Line) is type of internet connect connection:



Jeud ((Fea TsqpIsaR d@_A) UDR BT se3c dae dAaRMA gl
1. PSTN/ UigediTa

2. Broadband/ STgss

3. Dial up/ Sl 34U

4.T1/ &N

Correct Answer :-

. Broadband/ sigdg

39) A web search engine
9 I g H
1. is designed to search on FTP servers/ FTP ok TR @Il HA ?51%112 ESIEN ﬁ?CITTRJT%

2. is designed to search information on WWW/ WWW TR STH®RI @iei- & ford feems- fear
TE

3. Result in web pages/ 3§ Ui # gfkumy
4. All of the above/ IWRidd G4

Correct Answer :-

« All of the above/ IWRiad g+t

40) A web page is a collection of

TH AV HTEUS gl

1. Inter related Information/ 3{cR Tafdd STHHRY
2. Protocols/ Ulcidhied

3. Web sites/a"dm

4. URLs/g3RTd

Correct Answer :-

« Inter related Information/ 3icR T&fdd STH®RY



